21. SIMPLE INTEREST

IMPORTANT FACTS AND FORMULAE

1. Principal : The money borrowed or lent oul for a certain period is called the
principal or the sum.

2. Interest : Extra money paid for using other's money is called ioterest.

3. Simple Interest (S.1.) : If the intercet on a sum borrowed for a certain period is
reckoned uniformly, then i is called sfmple interest.

Let Principal = I, Rate = R% per annum (p.a.) and Time = T years. Then,
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SOLVED EXAMPLES

Ex. 1. Find the simple interasi on Ra. 88,000 at Jﬂ%“!& per annum for 9 montha.

Sol. P = Rs. 68000, R = E:SE# paand T = 2 VEArE = % FEArS,
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Ex_ 2. Find the simple interest on Ks. 3000 at E%ﬁl per annum for the period from
4th Feb., 2005 to 18th April, 2005.

Bol, Time = (24 + 31 + 18) days = 78 days = —

T i % ;i

1 25

P = Rg. 3000 and K = 6—% p.a. = %"5: P

[
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Bemark : The day on which money iz deposited 15 nol counted while the day on
which money i85 withdrawn 18 counted.

Ex. 3. A sum al simple jaterest at i'.i‘%‘.{ per anoum amounts to Re. 25C2.50 after
4 years. Find the sum.

Sol. Let sum be Rs. x Then, 8.1. = Bs. [I A z_.;_; 4 % F;_l:l-: T i;
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s A it = Ea, == l= En ;
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Henoe, sum = K. 1625,

Ex. 4. A sum of Rs, 800 amounts to Rs. 520 in § years at simple interest. [T the
interest rate is increased by 3%, it would amount fo how much 7

Bol. B.L = Es. (920 - 800) = Hs. 130; P = Bs. 800, T = 3 yra.
R“[lmnlm
Bl =3 |
Miew rale = (8 - 305k = B
H[H]HHH.:'I
LI
MNew amount = Hs, (800 + 142) = Rs, 882

E:LE Adam borrowed some money at the rate of 6% p.a. for the first iwe years, al
the rate of 3% p.a. for the next three years, and at the rate of 14% p.a. for the period
beyond five years. If he pays a total interest of Rs. 11, 400 at the end of nine years, how
much money did he borrow ? {(Bank PO. 1989)

Sal. Let the sum bhorrowed be x Then,

= B,

Mew 8.1, = H.s.[ . Rs. 192,

cr@x2) (xxIx3] (xxldx4)
L+ = 11400
[ 100 .|"[ T T ]
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SELEE U a11400 & ——= = 11400 = | =2EE 2T = 12000,
- [2.5 100 23 = 10 “"[ o5

Henoe, sum borrowed = RBs. 12,000
Ex. 6. A certain sum of money amounts to Ra. 1008 in 2 years end to Re. 1164 in

3: vears, Find the sum end the rete of interest.
Sal. &1, for 1% years = Re (1164 - 1008) = Ra 156,

i
8.1 for 2 years = Rs. !(mﬁv:%r.:e! - Rs. 208.

A
Principal = Rs. (1008 - 208) = Rs. 500,
Mow P=800,T = 2 and 51. = 205

100 % 208 | :
Rata = [ Em 2 i 13%,,
Ex. 7. At what rate putrmul! per anoum will & sum of moeney double in 16 years ?
(R.R.B. 2003)
Sal. Let principal = P Then, 51. = Pand T = 16 yr=
!
Hntt"-lr:-l-ﬂn”F lﬁ-""-“l-l'l'.n
Px16 | 4
d
Ex. 8 The simple interast on a sum of meneay is g of the principal. Find the rata
percent and time, if both are numerically equal. (8.5.C. 2000}
Bol. Let sum = Hs. x Then, 81. = Rs. jg:—r

Let rate = B% and time = B vears.
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Ex. 8. The gimple interest on & certain sum of monay for ﬂi years at 12% per

unum.i'u.ﬂa.Hiﬂuthnnthedmp!uiuumtmmumsmfwai- years at 10%
per anpum. Find the sum.
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Henece, the sum iz Ha. 800,

Ex. 10. A sum was put rt simple interest af & cortnin rate for 3 years. Had it bean
put at 2% higher rate, it would have fetched Ks. 360 more. Find the sum,

Px{ﬂ-rz}xs]_[hcnnﬂ]
100
= APH + 6P - 3PH = 368000 = 6P = 36000 = P = 6000,

Hence, sum = s G000

Ex. 11. What soousl! iostelment will discharge o debé of Hs, 1082 due in 3 years
at 13% simple interest 7

Bol. Let sum = P and original rate = R, Then,

So0l. Let each instalment be Bs. £ Then, | 1+ ——

f .t'n:lE}:_1.|"' .Iﬂli.ﬂi
| 100 ) [\

o TE A2 o1002 e (28xs3Lcs 260 - (1092x25
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Each instalment = Hs 325,
Ex. 12. A pum of Bs. 1660 is lent out inte two parts, one at 8% and encther coe &i
&%, If the total annual income iz Re. 106, find the money lent &t each rate.
(L.1.C. A.A.O. 2003}

Sol. Let the sum lent at 5% be Bs. x and that at 6% be Es. (1550 = x)
[;ﬁ_gy':_[uam-;n_&_:; I] - ibé
100 | 100
= Br+ 8300 = Gx = 10600 = Zxr=130 = x= 650
! Money lent at 8% = Hs. 650, Momey lent at 6% = Ha (1550 — 6500 = Rs. 300,

EXERCISE 21A

(OBJECTIVE TYPE QUESTIONS)
Directions : Mark (v') against the correct answer :

1. At the rate of ﬂé“-’- p-n. simple interest, a sum of Rs. 4800 will earm how much

interest in 2 years 3 mwnths 7
{2) Ha. 706 (b Rs A18 {ch Ra G918 {d) Ha. 956
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Cuantitative Aptitude

What will be the simple interest corned on an amount of Hs 16,800 in 9 months at
the rate of Er_:-ﬁr P, ¥

(@) Re. TAT50 (b} Rs. B12.50 {0} Re. 8BGO {d) Ka. HET.50
The simple interesl on Bz 1320 from March 9, 2003 to May 21, 2003 at T%‘E FiTE
will be :

(&) H=. 2250 ih Rs 27.30 (&) Rs. 28.80 (d) Rs. 29

A person borrows Bs. 5000 for 2 vears at 4% poa. simple interest. He immediately
lends it to another persom at E%% pa. for 2 years. Find his gain in the transaction

PEr YEar, {5.5.C. 2000)
{a) Re. 1125850 {h) Re. 125 i) B, 180 id} Rs. 167.50
How much time will it take for an amount of Rs, 450 16 vield Rz, 81 as interest at
4.5% per annum of simple interest 7 (IGMOT, 2003)
{a} 3.5 years [b) 4 years (¢ 4.5 years (dl & years

A sum of B 12,500 amounts to Bs. 156,600 in 4 years at the rate of simple interest.
What is the rate of interest 7 (Bank B0, 2003)
{a} O% (B 4% el &% idl 6% (et None of these

A sum of Rs. 1600 gives a simple interest of Re 252 in 2 years and 4 months. The
rabe of interesl per onnum is ;

1 1 3
&) 6% 6= & B—% dl 6—%
(b : L 2 { -

Reena ook a loan of Bs, 1200 with simple interest for as many years as the rate of
interest. If she paid Bs, 432 as interesi at the end of the loan period, what was the

rate of interest 7 (R.B.1. 2003)
(@l 2.6 1kl & {e) 18
(d) Cannot be determined (¥ Mono of thsss

A man took a lean from & bank st the rate of 12% poa. simple interest. After 3 years
he had to pay Ks. 5400 interest only for the parod. The principal amount borrewed

by him was - (8.8.C. 2004)

(a} Re. 2000 (b R=s 10,000 (] Re. 15000 (e} Be. 20 0040

What iz the present werth of Re. 132 dus in 2 years at 5% simple interest per annum 7

(&) Hs 112 (b} Rz, 118.80 {¢) Re. 120 (dy Rs. 122
(C.H.1. 1557)

A sum fetehed a total simple interest of B3, 4016.25 at the rate of & p.e.p.a. in § vears,

What is the sum ? (NABARD, Z2002)

{al Ra. 446250 (b Bs. 803250 (et He. 8800

{d) Re. B825 (el MNone of theso

The simple interest at »% for x vears will be Hs. x on 8 sum of *

(@) Bs. x (b Ita.[lfﬂi (e Rs. 100x (d Hs.[’--‘:?]

X

Hs. 800 becomes Hs. 956 in 3 years at a certain rate of simple interest. If the rate
of interest 13 increased by 4%, what amount will Bz, 300 become in 3 vears 7

ie) Rs. 1020.50 (B Rs, 1025 (c} Rs. 1052

(d) Data inadequate (e Wone of these {(Bank PO 2000)
A certain amount eatns simple interest of Hs, 1750 after 7 vears. Had the interest
been 2% more, how much more interest would it have earned ¥ {Bank PO. 2003)
(al Ks. 35 {hy Ha, 245 (e Ba. 350

i) Cannol bv delermined (e None of thess
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I how many years, Bz 150 will produce the same interest @ 5% as Rs. 800 produce
in 3 years @ q%-;. ? (REB. 2001)
(a) & i&l B (FIR ] (o 12

If R, 64 amounts to He. 83.20 in 2 vears, what will Bz, 86 ameunt ta in 4 yoars at
the same rate pereent par annum 7

{a) Rs. 114.80 (bl Bs. 12470 lel Hs, 12740 (d) Be. 137.60
The simple interest on a certain sum of money at the rmte of 5% pa. for & years is
F=. 840, At what rate of interest the same amoont of interest can be received on the
aame Aum after 5 years ?

(&) &% ik &% el 4% (d) 10%

The interest on a certain deposit at 4.5% pa. is Hs. 202.50 in one year. How much
will the additienal inlerest in one year be on the same deposit at 5% pa. 7

(a) Rz, 2025 (b M. 22.50 (e) Re 25 (d) He. 4275
A sum invested at 5% simple interest par annum grows Lo Hs. 504 in 4 veors. The

spame amount at 10% eimple interest per anmom in E% years will grow to :

[a) Rs. 420 (bl Ra, 450 (c) Bs. 526 [di Hs. G&O
{C.D.B. 20{03)

What will be the ratio of simple intervst earned by cortain amount at the same rate

of interest for 8 vears and that for & wears 7 (Bank PO 1998)

fad 1:3 i 14 el-2:3

{d} Data inadequate (el Mone of these

Nitin borrowed zome money at the rate of 5% pa. for the first three vears, 3% pa.
for the next five years and 13% p.a. for the period bevond eight vears, 1T the wal
intereat paid by him at the end of eleven vears is Rz, 8160, how much money did he

borrow 7 (Bank PO 2000)
(a)l Rs. B0 (h Ra, 10,000 (eh Re. 12000
dl Data inadeguate (el Mone of these

The simple interest on & sum of money will be Bz 600 after 10 vears. If the prineipal
is trebled after § years, what will be the total interest al the end of the tenth yenr?

(a] Rs. GO0 (b H= S (e} Bs. 130

id) Rs. 1500 (4 Mata inadequate

The simple interest on Bs. 10 for 4 months at the rate of 3 paise pér rupes per month
i8

{al Kg. 1.20 ihy Bs, 1.6 (o) Es, 240 (d} Ks. 3.80

An automobile financier dlaims to be lending money at simple intereat, but he includes
the interest every six months for caleulating the prineipal. I he is charging an interest

of 10%. the afective rate of interest becormes - (N.IFET 2000)
(ay 10% (b} 10.25% (g 10.5% () Mone af these
A sum of maney at simple interest amounts to Rs. 815 in 3 years and to Rs, 854 in
4 years. The sum is : (Bection Officere’, 2001)
(&) Rs. G50 {b) Rs BE (c) He, B8R (d)} Ks, TH)

A sum of meney lent out at simple interest amounts 1o Ks. 720 after 2 years and to
Rz, 1020 after a further period of & vears. The sum is : {B.5.C. 2004)
(&) Rs. 500 (k) Rs. 600 (el Ra. T (d) Ra, 710

27. A sum of money amounts to Ra, 9800 after 5 years and Hs 12005 afler 8 years at tho

same rate of simple interest. The rate of interest per annum is :  (B.B.C. 2003)
(a) 5% (b B% [l 12% (d) 15%



Quantitative Aptilude

+ A certain sum of money at simple interest amounts to Ba. 1012 in 2% years and to

Rs, 1067.20 in 4 years. The rate of inlerest per anmum is :

(&) 25% (b 3% [} 4% () 5%
. In how many yvears will & sum of money deuble itself at 12% per annum 7
(&) & years 9 months {b} T years & months
ic) B years 3 months {d} & years 4 months
At what rate percent of simple interest will a sum of money double itself in 12 vears 7
1 1 | I
(@) B="% by B="1% {e) B="Th =-
3 3 ¢ E,-_ - ] E"E'i-
(B.5.C. 2000)
The rate at which o sum bocomea four times of itself in 15 vears at B.1, will be :
1
(a) 15% . 173'3- Lel 20 (d) 25%
If a sum of money at simple interest doubles in 6 yeare, it will become 4 limes in
(a) 12 vears (B) 14 years (el 16 voars (d} 18 years

A sum of money trebles itself in 15 vears G months, In how many vears would it doubla
itealf T

{2} 6 vears 3 months (b} T vears 9 months

{c) B WEATE 3 months (el © yemirs B maonlhs,

Consider the following statements :

If a sum of meoney is lent al simple intercst, than the

1. money gets doubled in 6 vears if the rate of interest is IE%%.

2. money getz doubled in § years if the rate of interest is 20%.

3. money becomes four times in 10 years of it gets doubled in 5 vears.
Of these stalemonts,

(&)} 1 and 3 are correct (b 2 alone i3 correct

{g] ¥ alone 15 correct (el 2 aned 3 are coreect

The gimple interest on a sum of money ot 8% per annum for & years is half the sum.
The sum is :

(a) Rs. 4800 (h) Rs, 6000 (¢} Rs. 8000 (d) Data inadequate
2
At what rate percent per annum will the simple inlerest oo 3 sum of money be : ol
the amount in 10 years 7 (3.8.C. 2002)
2
(@) 4% ®) 525% i) 6% ) 5%&
In how much time would the simple interest on a certain sum be 0.125 times the
principal at 10% per annum ? [Asgistant Grade, 1887)
1 3
fah 1: FEArS b} l; FUELTS fiel E:} YEATE (d) 2% FEArS
How long will it take a sum of money investod at 5% pa. S0 to increase ite value
by 40¢% ¥
(&} 5 years (&) 6 years (€) T years (d} & vears

-
A sum of money becomes o of itsell in 3 years at a certain rate of simple interest.

The rate per annum is : (5.5.C. 1999)

[
(&) 5-‘55 (Bl Eg'i (e} 16% () 25%
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Simple interest on & certain sum at a certain annoal rate of interest is 5 of the sum.

If the numbers representing rate percent and time in years be equal, then the rate
of interest is :

(a) 3%% (b) 5% e ﬁ—j-r.a (d) 10%

G
Simple interest on & cortain amount s T of the prinsipal. If the numbers representing

the rate of interest in percent and time in years be equal, then time, for which the
principal is lent out, is : (R.R.B. 2003)

La) 5.‘_; yEars [¥:)] ﬂ% VERFS {c} 7 years L} T;— years

A lends Hs. 2500 to B and a certain sum to C at the same time at 7% p.a. simple
interest. If after 4 years, A altngether receives Ks 1120 as interest from B and C, then
the sum lent o C iz : (8.8.C. 2003)

(a} Ra. 700 {b) Ra. 1500 Led Ha. 400 {d] Rs. 6500

Two equal sums of money were lent at simple interest at 11% pa. for ﬂ% years and

1 : 4
'15 years respoctively If the differenco in inlereats for bwo periods was Rs. 412.50,

then each sum ie -
[a) Rs, 3250 (b Rs. 3500 (gl Rs. 760 () e 4250

If the sumple interest on a certain sum for 15 months at ?%ﬁ- PEF SNNUM Feemeds

the simple interest on the same sum for 8 months at 12%'&- per annum by Rs. 32.50,

then the sum (in Rs.) is :

{n] Ra. 3000 (b} Re. IGO0 {¢h Hs. 3120 {d) Ra. 3250

A man investe a certain sum of money at 8% pa. simple interest and another sum
at 7% p.a. simple interezt. Hig income from intersst after 2 vears was He, 354 One
fourth of the first sum is equal to one-fifth of the seeond sum The tolal sum invested
was

(a) Rs, 2600 (&) K=, 2700 (. Ha. 2880 {d} Fs. 2000

A horrowed sorme money from B at 12% paa. 8.1, for 3 years, He then added some more
money to the borrewed sum and lent it to C for the same pericd at 14% p.a. rate of
interest. If A gains Rs, 83.90 in the whole transaction, how much money did he add
from his wide 7

(a) Ra. 35 (b} Re. BB [ch Rs. 8O i(di Hs. 105

A person borrowed Rs, 500 @ 3% per annum S.1 and Rs. 600 @ 4%1 per annum on

the agreement that the whele sum will be returned only when the total interest
becomes Bs. 126. The number n-f:rﬂn, after which the borrowed sum is Lo be returned,
ig

(&) 2 ihl & (el d idl 5

A lent Re. 5000 to B for 2 years and Re. 3000 to C for 4 years on gimple interest at
the same rate of interest and received Re. 2200 in all from both of them as interest.
The rate of interest per annum is (C.B.1. 2003)

(@} 5% (B) 7% icl 1%-;, () 10%
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Quantitative Aplitude

A sum of Ha. 725 is lent in the beginning of a vear at a cortain rate of interest. Aftor
& months, n sum of Re. 36250 more 13 lent but at the rate twice the former At the
cnd of the vear, Rs. 3,50 &5 sarned as inlerest from both the loans, What was the

original rate of intorest 7 (Hank P03, 20404)
(&) 3.6% (h 4.5% el 6% (d) &% (¢} None of these
The difference between the simple interest received from (wo dilferent scurces on
Hs. 1608 for & years is Bs, 13.50. The difference between their rotes of inberest s -
(2) 0,1% (b 08% (gl DA% idl 04% (¢} MNone of these

(8.8.0. 1894)

Peter invested an ameunt of Ba 12000 at the rate of 10 pepoa. simple interest and
another amount at the rate of 20 p.c.p.a. simple interest. The total interest earned
al the end of one vear on the totlal amount invested became 14 poc.p.a. Find the total
amaunt invested. (ER.I.PO. 1999)
(@) Rs. 20,000 (&) Re 22,000 (c) Re, 24,000 (d] Re. 25,000 (¢ None of these
Whit should be the least number of years in which the simple interest an He. 2600

at ﬁ%‘:& will ke an exact number of rupees 7

(o) 2 b 3 fc) 4 dl &

The rates of simple interest in two banks A and B are in the ratio 5 @ 4. A person wants
to deposit his tolal savings in two banks in such a way that he received equal half-
seurly interest from both. He should deposit the savings in banks A and B in the ratio
() &5 (h) 45 ch 5-% () 5 -4

A sam was put at simple interest at a certain rate for 2 years. Had it been put at
3% higher rate, it would have fetched Hs. 72 more. The sum is :

() Hs, 1200 (b) Rs. 1500 () Hs. 1600 (d) Ks. 1800

If the annual rote of simpie interest increpses from 10%: to 12%%, n man's yedarly
inzome lmerecases by Rz 1950, Hiz principal (in Ra) is : (EE.C. 2004)
{ay 45,000 (h) 50,000 (e &0, 000 [l 5,0

A moneylender finds that due to a fall in the annual rate of interest from &% to T% &,
his yearly income diminishes by Fs. 61.50. His capital is : (8.5.C. 2003)
1a) He. 22,400 (b} Ha, 23500 ie) He, 24600 [l Hel 26,000

What annual payment will discharge a debt of Hs. G450 due in 4 vears at [% simpls
inlerest ?

{a) Ha. 1400 (b} Ha. 1500 [c) He. 1550 (d) Ha. 1600

A sum of Bs. 10 15 lent to be returned in 11 monthly instalments of Re. 1 each, interest
baoing simple. Tha rate of intereet 1w :
{m 9%'5% (h) 10% (e 11% (dl 21 %‘5

A person takes 8 loan of Rs. 200 at 5% simple interest. He returns Bs. 100 at the
end of 1 year In order to clear hiz dues at the end of 2 vears, he would pay :

{a) Bs, 105 (b) RBs. 110 (ch Bs. 115 (d) Rs. 115.50
The price of a TV et warth Ha. 20000 i2 {0 be paid in 20 instalments of Rz 1000
cach. If the rate of interest be 6% per anoum, and the first instalment be paid at the

time of purchase, then the value of the last instalment covering the interest as well
will b : ({Hotel Management, 1958)

@) Rs. 1050 (h) Rs. 2050 () Rs. 3000 (d) None of these
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81. If the rate increases by 2%, the simple inlerest received on a sum of money increases
hy Rs. 108. If the time period is incrensed by 2 years, the simple interest on the same
sum inereases by Hs, 180 The sum is :

(2} Ha. 1800 b Hs 3600 (e} Rs. B400
(d) Data inadequate (e} Mone of thess

62. Mr. Thomas invested an amount of Rs. 13,900 divided in two different schemes A and
B at the simple interest rate of 14% pa. and 11% p.a. respectively: If the total amount
of simple interest earned in 2 years be Bs. 3508, what was the amount invested in

Scheme B ? (R.B.I. 20083)
(@) Rs. G400 (b R=, G500 (e} Ra. 7200
(d) Re. T500 i@ None of these

63. A gum of e 2800 iz lent out in twa pirts in such & way that the intersst on one part
ol 10% for 5 years is equal to that on another at 9% for & yvears. The zum lent out
at 1% is :

{a&) Ra. 1150 ib) Bs. 1250 {cl Rs. 1350 (ady He. 1450

64. A gum of Rs. 1650 was lent partly at 5% and partly at 8% p.a. simple interest, The
total interest received after 3 years was Re. 300, The ratio of the monoy lent ot 5%
to that lent at &% is :

(#) 5: 8 bl 8.6 (el 16 @ 15 (dy 31:8

66. A man lends Rs. 10,000 in four parts, If he gets 8% on Rs. 2000; T%‘I on Ra, 4000

and 3%‘5 on He. 1400; what percent must he get for the remainder, if his average

annual intérest is B.13% 7
(@) T% (b} 9% (c) 9%* id) m%m

66. An amount of Ks. 1,00,000 is invested in two types of shares. The first vields an
interest of %% p.a. and the second, 11% p.a. If the total interest at the end of one year

is ﬂ%‘l. then the amount invested in cach share ams IMBA m}
(a} Rs. 52.500; Ra. 47500 (b R=, 62.500; Rs. A7.500
(e Ha. T2.500; Hs, 27500 {d} Rs. A2500; Re. 17500

67. David invested certain amount in three different schemes A, B and C with the rate
of interest 10% pa., 12% pa. and 15% p.a. regpectively. IT the total interest accrued
in ene year was Rs. 3200 and the amount invested in Scheme C was 150% of the
amount invested in Scheme A and 240% of the amount invested in Scheme B, what

was the amount invested in Scheme B 7 (Bank PO, 2003)
(a) Rs. 5000 by Ha. 6500 () Hs. 80040
(e Cannot be determined (¢ None of thess

68. A persen invested in all Rs. 2600 at 4%, 6% and &% per annum simple interest. At
the end of the year, he got the same interest in all the three cases. The money invested
at 4% is : (8.8.C. 2003)
(u) Hs. 200 L&) He. GiK) {c) Fs, 800 (dl Ks. 1200

68. Divide Rs. ZiTH into 3 parts so that their amounts after 2, 3 and 4 yvears respectively
may be equal, the rate of interest being 5% per annum at simple interest. The first
part is : (C.B.L 1997)
g} Ra. TED (& Ra. 792 ic) Rs. B18 {d) Rs, 828

1 1
T0. A man invested 3 of his capital at 7%; 3 ut &% and the remainder at 10%. If his

anmual income 15 Ks. 561, the capital is
(&) Rs. 5400 ib) Hs. OO0 (¢} Rs, 6500 (d) Rs. 7200
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T T T TTTT TR R R, S e e e e p—n —m O — —— — vo— —— — — — —

L ﬂm:!mam;hx:z%mt%yﬂ_

T (mmxhﬂ 1) s 918
274 ll:H:I;I '

2. Time = 8 months = % VBAE.

=3 1

ol = Hm|lEﬂ[IIJ1{Tu'-E*: ]ﬂth] = Ha, TE7.50.

3. Time = (22 + 30 + 21) days = T3 davs zé}lm_

1B 1] 1%
5.1 = Ha. [lﬁﬂlx-‘;xgrﬁ!_ Rs. 27.30,

4

M f 25 2 5000 4 x 2
d. Cainin Zyrs. = Re. || 5000 x = « = —{---—-— - Rs. {R25 — 400} =
. l.[ 3 ltlﬂ] 100 :]] L }= Rw. 225,

Gain in 1 year = Ha. E::'"J = Ra. 11250
[W‘:I'HE!.
| 450 x 4.5
6. S5l = E= (15500 - 12500} = Rs. 3000,

[ 100 = 3000
%,
g 12500 « 4 J“

B Time = ]Fm‘li—-i-:ﬂuﬂﬂ

7. Time = 2 voars 4 monihs = E:l—t years = : Vears.

100 x 252 3¢
Hate o | ———— " _ & — G=th
'[ 1600%7 ) ﬁ

B Let rate = R% and time = I-'i.yuﬂ. Then,
[lm:mltxn

= ]-43:1 = 12R) = 432 = R¥P = 36 e E = 6.
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10. Let the present worth be Hs. x. Then, 5.1, = R, (132 - x).

{%2)1132—: e 10% = 13200 - 100x <« 110x= 13200 = x« 120

: (100 »* 4016.25 401625
11. Principal = Rs L—-—B;E_.— = Ha. [15__1 = Rs. 8925,

il B [IW!E.I.] 4 hlflmx;] ¥ M(E]
BRxT | zxx x
13. S1 = Rs. (958 - 800) = Rs. 156.

1080 = 156 1
Bate = [_Eﬂ'ﬂ'#ﬂ }i =ﬁ§ﬁ|l

1 1
New rale = ['EE-rq.}J'h = lﬂiﬁ.

21 3
Wow 501, = Ra. [BO0x —®—| = Fs. 252
oW [ Hix]ﬂﬂ,-'

Wew ameuni = Rs. (800 + 262) = Rs. 1052,

14. We neod to know the S, principal and time to find the rate. Since the principal i=
not given, so data is inadeguata,

15. P = Hs. B00. R = 1%‘.!:- g‘i.T= % years. Then,

S1 = Rs. Ifﬂmﬁ?:x_:’-\l = Ha. 108,
100

| 2
Now, P = Rs. 150, 51 = Ra 108, K = 8%,
: 100 = 108
Timo = |L T EI-_] vears = Y years.

18. P = R=. 64, 8.1. = Ra. (83.20 - 64 = Bz, 19.20, T = 3 years,

. B l_l]ﬂxlﬂ_'m B
hu,rﬂtﬂ-[ S = 15%.
Now, P = Rs. 86, R = 15%, T = 4 years.
6 1514
2 0. = : —_— - ; JELR
s Rs( 1524 - Ra. 5160

17. 5.1 = Re. 540, R = %, T = § years.
(100840
| bBxB

Mow, P = Rs. 2100, 81 = Rs. 840, T = § years.

Rt {lﬂﬂxﬂqﬂh - 5%

Principal = HEs. ] = Rs. 2100.

2100 = & |
18. B1. = Rs, 202.50, R = 45%, T = 1 year
Pringpal = Rs. ['Tﬂm] = Tis. 4500,
4h5x1
Now, P = Rs. 4500, R = 5%, T = 1 year
s1. = Re. [Lﬁm"“"l} - Re. 225
10g

Difference in interest = Re. (225 - 202 500 = He. 22.50.
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Lﬂthummhﬂs.:TMn,E.l.-Hs.fﬁﬂd—rﬁ_
s bGxd
( 100 ]-ﬁm--:r 2 Wx = 50400 - 100x < 120% = 50400 = x = 420

Now, P = Rs. 420, R = 10'%, T-E_wea:a.

E-.l- = H-'E. [ lﬂlﬂl ?:E = R—'I. 1065,

L Amount = Hs. (420 + 105) = Rs. 505

Let the principal be P and rate of interost be R
[Pxn.xs]
i s 104 aFR &
Ha - LAY (- = =
BHE-T, (pan:st 9PR
100
Let the sum be Re, x Then,

rx6x3] frx0u=f r=13=3

[ 100 'J+ mﬁ"']*[T]:mu

420 = 10 BJ

-

= 18x + 456x + 39x = (B160 x 100) ¢ 10%Zx = B1S00D &=
. Let the sum be Rs. = Now, 81, = Rs. 600, T = 10 years.

[1m:am [ﬁ:ﬂnﬂu]]g‘c
= — B — [
xx10

4

8.1 for first 5 years = Rs. [“—'-"“-“E].m_ 300,
x x 100

L]

8.1, for last 5 vears = Hs. [Er'-tﬁh

B
= Ra. S0,
XX 1EH:I}

Total interest = Re. 1200

3
&L Rs. [H‘ o 100 -

Let the sum be Ra. 100. Then,

|'_I_l.'.l.'.l'=-:1ﬂ:nc1
L 100k

"
4| = Rs. 120
4

51 for first 6 monthse = Rz J=RI.E-

(105=10x1

8.1 for last 6 montha = Ra.
. 1Mx2

me.

x = B000.

S0, amount at the end of 1 year = Re. (100 + 5 + 5.25) = Rs. 110.25.

Effective rate = (110.26 - 100] = 10.25%.

» BL for 1 year = Rs. (R54 - R15) = Rs. 39

81 for 3 years = He_ (3% » 3) = Ra. 117.
Principal = Rs. (815 — 117) = Rs. 608,
S.I for 5 years = Rs. (1020 — T20) = Rs. 300.

0

5.1 for 2 years -H.u.[—E nﬂj|~a.._1m.
F

Principal = Rs. (T20 - 120} = Hs. 600,



Simple Interast

a7 81 for 3 years = Rz, (12005 — 9804 = Hs. 2205,

= 5] = Fis, 3576,

& 1. for B yveare — Hs, [m‘;ﬂh

Principal = Hs. (9800 - 3675) = Rs. 6125.

100 = I6TS
Henes, rate = | ————— [* = 19%.
[ G126 =5 ]

o8, 5.1 far j]E years = Re. (1067.20 — 1012) = Rs, 55.20.

5.1 for E% years = Hs. [ﬁﬁzﬂx%‘x% = Ha. 92

Principal = Rs. (1012 - 82} = Ra. 220
b
lﬂﬂnﬂzﬂﬂlﬁ = 4%
g20x5 |
29, Let sum = x Then, 81. = x
Time _!"]EH}:I-:H.'E- s 100 = x
'.N P=R xx12
30. Let sum = x Then, 1. = x
il
I‘Il.lﬂrﬂi} = rl‘ln_"f{]q;. . alq.,
|l PxT xx12 } 3 3
gL, Let gum = x Then, 51 = dx
100 x 8.L 1[!33-::511
Rate = | 100ASL] |22 1 = 20%
t'a [ Pn’l‘] {.1:1':151 "
92 Let sum = x Then, B.L = x
H}l}x.t] &0

Ha _—— — .
LE.[ rxh i3 d

Honce, rale = [

Rate =

i
MNow, sum = x, 5.1 = 3x, Rate = 5’3._4;,.
100 = 3=

'l‘i.rn:=——5T-13_fenrs.
EK=—
3
98, Let sum = x Then, 51 = 2x Time = 15% Years = -:IE—I FEHFH.
Rage = | 190% 22 400
7
2
Now aum=:.3.l.-:,Hltu-%‘I=.
. 1DDxx .41 _
me—rﬁiﬂﬂa 2 vears 7 years 9 months.
a1
a4, Let 4um be x. Then, 5L =x
1. Time = lm;; = & years (False

% W —

1]‘tﬂ1‘ﬂwﬂ?—]jﬂ-¥i-ﬂfﬂﬂlm&ﬂlﬁ.
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100 = x
L = 0 years (True)
3. Suppose sum = x Then, 5.1, = ¥ and Time = 5 yéars.
e
xxb
Now, sum = x, 81. = 3x and Hate = 20%.
1000y 2 Ax

x =20
Sa, T alone {8 correct,

35, Let sum = x Then, 5.1 = %

2 Time =

5 Time = [ ] years = 15 years (False)

x rxEBxB

=" Clearly, data is inndequate.
6. Let sum = x Then, 3.].-%, Time = 10 vears.

100 Ex

—F.'Eiﬁ'!-cll] = 4%.

Rato -

aT. Lei.uum-x.']"hm,ﬂ-l.=0.12£-r—£—:,ﬂ~ID!I--.

100% z | 5

Time = | == S =2 years = 11
[Ixﬂxlwymn 41:‘!5 11 years,

B8, f.ﬂll'muumhex"['lwp,.%.l-ﬂlﬂ‘hnf:-%;ﬁnauﬁ‘b.

Time = [lﬂl}xgx L
8 XX

=}
5] yoars
Eﬂ.lﬁmm=:ﬁm.lmﬂunl=—:;
Tx
BlL=|—-2|= = Time =
[E ] i 3 years.

10 = x &0 ]
R‘“" ———r— - — = )
[zuﬂxak 9% HBFE'

40. Let sum = x Then, 5.1.:5_
L&t rate = B% and time = B vonrs,

sxR=R X 100 10 1
i — | B = D Rj=— R —m= ety
[ 100 J 8 N ek

Hence, rate = 3%*.

41. Let sum = x Then, R.I.-i%:_

Let rate = R% and time - R yvears.
[xHE:n:R] B - R 200

i = im R =

]
=]
B | =
.

Hence, tme = 'i'é FErE,



Simple Interest
Eﬂlﬂu'?:r:-l.‘ﬁ xTxd)
42 Let the lent to C be Bz x Then i
sum len X ,[ 100 J-r[ o0 1120
Vo e _"-'Iﬂl:l:r.ﬂ-ﬁ
& gox = (1120-700) = I_|. = ]-mm.
43. Lot sach be Ba x Tham .11113;5_ xx1lxT it
o - [ 100 = 2 T TTTA ey
e (B0x — TTx) = BOG0) &= 20y = BRSO0 = x = 37O,
i85 " & 1 | | 1
44, L-utﬂ'nlil.mham._tﬁuu,[ S ¥ ey ] () e T
rnig!ulm] [KHEMHHIW] 3250
1&55-%_3%0 o 25x = (3260x ) = :.["’m““]_ﬂmﬂ-
45, Let the sums be x and ¥

A6,

4T.

.t_lft_ﬁrx_‘i*yx'i'x'.!
100 104

T Ry 1
.!'I.-]l--lzn-.l1 ﬂnrﬁ: 4y = 0

Solving (i) and (i), we get : x = 1200 and ¥ = 1500
o, Total sum = Rz. 2700

= 350 or Gx+ Ty = 17700,

(B30 +xlx M4 =l BBOx12x]

Let the money added be Re. x Then, = 53.50
104 100

e BID x 42 + 42x— B30 = 36 = OR90 & 42x + B30 x (42 = 36) = 9390

= 42x = 9300 = 1980 = :=%=lﬂh

Money ndded = Ra. 105,

Let the time be x veara. Then,

[ S00=3x%x BOO = 9% x
+ = 196
L. 100 100 = 2

e 1hx+ 2Tz= 126 = d2x=136 = =x=3
Reguired time = 3 voars.

10 100

. Let the rate be R% p.a. Then, [“““FEL[M] - 2200

@mﬁ
= 10K + 120K = 2200 = R-(- - = 10
22&;
Rate = 10%,

Let the original rate be B%. Then, new rate = (2R¥%.
[?Eﬁxﬂxll (38250 = 2R =1

. 1600 = 3
= ':31”5-!-?25}& 3350 = 100 = 3 = 10050

10050
B ow oot A
2 2800

]lEMD

l:llri,gima.l rate = 3465,

1500x Ry x3) (1500 xRy %3
[ 100 }[ T00 g

1350

e AR - Ral = 1350 = Ry - H.gl ll}ﬂi

i

i)
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51. Let the second amount be B3 x Then,

g B

61.

(lﬂmu:mluxl JfEx20x1) [012000 + x)x 14 % 1]
100 00 ) 100 J

e 12000 + 20 = 168000 + ldx = 6Gx=48000 o x = BOOO.
Total investment = R (12000 + 80000 = R 20000,

i B 1 a0
S.L = Ha. | 2600 % =¥ — = —
l 3 mn”T} R"[ 3 KT]'
which iz an exact pumber of rapees when T = 3.
Let the savings be X and Y and the rates of simple interest be 5x and 4x respectively
1 1 RRGE | :~: i .
Thm,.‘.(xﬁ.t:-:-u—-?xux H— —-— s = A
2 100 SER0T g X R A,

.'::I:I:H-rH:I:l:E_ rxRx2

Let the sum be Rs. x and eriginal rate be B%. Then -
¥ EOHD 100 Ta
= Ry +6x—2Rxr=TH0 &= x= 1200
o 1) fxxl0x]
. Let 4 e L R R Pt el Y o
the sum be Hs x.Then,{xxﬂ:-;mn‘l [ ' ] 1250

= 26x = 20x = 250NN = fAx=MH000 == x = SO0,
xxBxl) - 7 i
P ey | T o —

10a 4 10
= 3y = 0lx=615 =4 = x= 24600

Let the capital be Rs. x. Then, [ = G150

. Lot the annuoal instalment be Ra. & Than,

e (5 e (5 o (Y - e

Sl 2 21z
= -ﬁrﬁ+g+tnﬁﬁﬂnﬂﬂ:-ﬁéﬁﬂ5m = ¥ = 1504},

Re 10 « 51 on Re 10 for 11 menths

=Rs. 11+ 5L onRe. 1 for {1 + 2+ 3+ 4 + + 10) months
= Hs 10 + S1. on Re. 1 for 110 months = Re. 11 + S1. on Re. 1 for 55 months
= Bl on Be. 1 for 66 montha = Re. 1,

100=12 9
h.t-ﬂ'= —_— = —
[ e }r- 2=

EM:-:];-H_I lﬂﬂxﬁxlﬁ S 1

Amuntmbnpnjd-h[mn+ o
Money paid in cash = Re, 1000.

Balance payment = Rs. (20000 — 1000) = Ra. 19000

Let the sum be Rs. x rata ba B% pa and time be T vears,
R+
[Imf EI-KT] [‘#“R"Tﬁl_]uﬂ_ = 2xT = 10800 AT
Then, 100
And, [,ﬂ-: Hl:-;lt:l’l‘+2]‘_[::13uw T‘] - 180 & 26 = 18000 i

Clearly, from (1) and (ii), we connot find the value of x.
S0, the data is inadequate.
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62. Let the =um invested in Scheme 4 be Rs x and that in Scheme B be Hs. (13900 — x).
Then. [:eri]_'_[uam—nxuxz
100 100
#=  28x = 2lx = 360800 - (13900 = 22) = Bx=45000 = x= TEO0,
Ba, sum invested in Scheme B = Hs. (13900 - 7600} = Hs, S400.
B3. Let the sum lent at 10% be Rs. x and that leat at 9% be Rs. (2600 = x). Then,
zx10x5 (2600 = x)x 9% 6
[ 100 ]’ 100

= 3508

DEOD = 54
104 —] = 1380,

&= Olx = (2000 x 54} - Bdx = .1'-[

Sum lent at 109% = Re 1350,
64, Let the sum lent al 5% be Rs. x and that lent at 8% be Hs. (1550 = x). Then,
[ “!-"..E.“]JE“* x) % 8x 3
1000 L 100
= 10x - 2dx+ (1650 x 24) = 30000 = Sx=TH0 < x= 800,
Hequired ratio = BOO : 750 = 16 : 15.
86. Let the required rate be R. Then,

[mﬂm“a“}rhmxﬁxi&l]-[lasm!ﬂxi]

].am

100 | 2 2100
1 813
W0 B e | = | ——— = 10000
-l-[ K !lﬂ'ﬂ') 'l.[m'ﬂi }
e 160 + 300 + 1182 + 26 = 813 &= R=19
B66. Let the sum invested al 9% bs Ha. x and that invested at 11% be Rs. (100000 - x.

exdxl) [(100000-x)=11x1] ( ny 38 1
”""’[ 100 ]+[ 100 [1 Kd“!m]
Sx + 1100000 - 11x _ 39000

= B76G
100 .

= 2x = (1100000 - ST0000) = 125000 e x= 2504,
Hum invested at 9% = Rs. 62500,
Sum invested at 11% = Rs. (100000 ~ 62500) = R=. 37500,
67. Let x, y and z be the amounts invested in schemes A, B and C respectively. Then,

[I:1ﬂx]'1+[311211]‘.[331511]Fm

00 100 100

= 10+ 1%y + 152 = J20000 o

Now, .!-E'ml:fy'-%!} )
|3 J3,_(2,12), 8 '

And, a-‘lﬁl}"il's-nf.:—z.r - {3}( E]j Ejl iy

From (1), (i} and (i), we have :
168y + 12y + 36y = 320000 &= By = 320000 <= y= G000
Sum invested in Scheme B = Hs. G000
88. Let the parts be x y and (2600 - (x + #]. Then,
rxdx] jxﬂini_iM—I;;-r;}]xax]
00 100 100
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) g alogp s g
x i 4 3
[Eﬁm—ix}xﬂ
S0, rx4xl 3 )
100 1040
e u-[—_-:m“‘;’]“ﬂ o B0F = (TEOOXE) e x-[i".-fgﬂ]nzm.
Money invested at 4% = Ba. 1200, .
B89, Let the parts be x, v and [2379 - (x + ¥
5 ( 5] [ 5 )
r+|l i ey R A | = Zh|Zx&E—]
by mu] ¥ | Y= 100 100
11x _ 28y _ 62 10k 20k __ Gk
iy 1 el S G Ll = EEm——, fm mm—pm —
10 2 ] 11 o3 QR
But x + ¥ + = 270
i r
__1 %,,%J,%_gaqg = 1380k + 1320k + 1265k = 2379 x 11 x 23 x 6
Z3TAX 11 m B G J=11x23=x G
- kom
an6s B
rtfﬂﬂﬂ:llhﬂ!ﬁ)_m_
11 &

Hence, the first part is Ks. 838,

=
3 100 4 100 12. 100 )
[’Em:-cﬂrm
=
| 51

70. [..:1.11::13.1s-.-al.nlh-lav.l'hualf'hi..wLTh':-l'l.[-‘-E"c " “IJ*[EV—H-"E]]*I\M 20 1) = 561

T T X
e — f — = 1 Glx = (561 = G0])
300 60 24 = g Tz

71. Let the sum be Ra. 100 be invested for 1 vear. Then,

[[W_?;E“] 41“.““"‘_1'] _[E‘?’;;E“]-i = Re 1440

£ Effoctive rats = I4.4%.

]:Eﬁﬂl}.

y, 10D

8L = Ra

(DATA SUFFICIENCY TYPE QUESTIONS)

Directions {Questiens 1 te 6 : Each of the guestions given below consists of a
statement and/ or a question and two statements oumbered I and I given below it. You
. bave to decide whether the data provided in the statemenifs) is/are suflicient to
answer the gquestion. Read both the statoments and

(Give answer (a) if the data in Statement I alope are sufficient to answer the
question, while the data in Statemant II alone are not sufficient to answer the gueslion;

Give apswer (b) if the data in Statement II alope are sufficient to answer ihe
guestion, while the data in Statement [ alone wre nol sulficient te aggwar the question;

Cive angwar (¢) if the data sither in Statsment I or in Statement Il alone are
guffeient to answer the guestion;

Give answer (d) if the data in both Statements I and II tegether are not sufficient
to angwar the gquestion:

Give agswer (@) if the data in both Statements I and II together are necessary to
gnswer the quesiion.



Simple Inlonss!

1. What iz the rate of simple interest ? (Bank PO. 2003}

[, The total interegt sprned was Be 40000
Il. The sum wae invested for 4 wears,

2. The sample mberest on @ sum ol money s Ra: 3. What & the sum * (R.B.I 2003)

I. The interest rate iz 10% pa.
I1. The sum carmed simple interest in 10 years.
3. How much money did X invest

I. An imerease in the rate of interest (rom -1-:—% to nlE% pEr amn

yearly inoome by Hs. 25.
1. The sum invested gets doubled, when invested at 3% pa. for

4. What percentage of simple interest per annum did Anand pay to
I. Anand borrowed Rs, B0 from [Deepak for four years.

mum increases his

1
12— 5.
2 yrArs
Deepak ¥

I1. Anand returned Rs. 8300 to Deepak at the end of two years and settied the loan.

(LB.PB. 2002)

6. A man borrowed a total sum of Hs, 24000 from twoe moneylenders. For one loan, he -

1 i
paid interest @ T—Ei poio. and for the other %% pa. How moech money did he borrow

ot cach rate 7
I. The sum of the intereste afler one year was He, 20025,
1. The interest on one swm was twice that on the other
B What 1= the sum which ecarned interest 7
1. The total zimple interest was Rz 7000 after 7 years.
11. The total of sum and simple intereést was double of the sum

(NABARD, 2002)

after 5 vears,

Directions (Questionz 7-8) : Each of the questions given below consists of & question
followed by three statements You have to study the question and the statements and
decide which of the slatement(s) iz /are necessary to answer the guestion.

7. What iz the principal sum 7
I, The sum amounts to Be 690 in 3 years at 5.1
I1. The sum amounts to Rs. 750 in & years at 5.1
[11, The rate of iatersst 18 5% p.a.
(a) | and T only (6l IT and IIT only

o T and IT only idt 1 and [I1 only or 11 and 110 only

(& Any two of the three

B. Tn how many years will & sum of money put st simpls interest treble itself 7

[. The imnterest earned in 4 yvears is half the sum.

- 1
IT. The rate of interest i 125%_

Il1. The sum doubles iteell in B years at simple interest

(&} Any one of the three ik Any two of the three
ter AL T, 1D and 110 (el 01 amd 101 only

(e 1 and I1 anly

—— — — — — — — | — — —— . ———. — S — —— — — —

e s s s, S AN

— — — — — —
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SOLUTIONS

f00x5.1.)

We know that, R = | =5oa |

Now, 1 gives, S.1 = Rs. 4000.
Il gives, T = 4 yoars.

But, P is unknown. So, we cannot find R.

Sa, given data is insufficieat to get R
Correct angwer is (d).

Given : 8.1, = Ha. BO.

I gives, R=10% pa

il gives, T = 10 years.

R m“s"']ﬂh 10 x50 b 50,
T=H 141 = 10

Thus, | and 11 together give the answer.
Correct answer is (o).
Suppose X invests Ha x
L 1

1 gives : By E—E-"i‘:-.ﬂgi%'l‘.

Increase in 5.1. = Ra. 25,
|:xlx%} . ;xln% " o
l T 100

Eﬁx&[ﬁ_ﬂ_ﬂ

- (41x-30%) = (26.x 800) = 1-1 ]-wmu.
Thut,Inni;.-!iwll..htan:wﬂ-.

llgivH,ﬂ.[.-Rl.x.HlEﬁmﬂT=%mﬁ.

P=

100x51 ([100xx_ )
_— :':2
RxT 8x256 )
Thus, I is not obtained.
| alone is sulficient to get the answer and 11 is not sufficient to get the answe
. Correct answer &= (&l
Let the rate be Rieepa.
| gives, P = Rs. 8000 and T = 4 years.
Il gives, S.I. = Hs. (8800 — B00O) = Rs. BOO.
i
100 8.1 =1 100 = S0 . 21% na
PxT | BODO = 4

Thus, | and I1 both are needed to get the answer,
Correct answar 15 (ah

R

Suppost he borrowed Ra. xat 13* p.a. and Rs (24000 - x} at #% pa.
1 gives, total interest = Rs. 2025



Simple Interest 4E5

15 1 . ]
[Iklk?nﬁ)*itﬂmﬂ :1xlx1m} 2025,
This gives x
I gives Interest on Ra. (24000 — x = £ x (interest on Rs. x)

= EHWJ—:}E%H = [E:l:;l;:t:—:l:_l

Thia gives x.
Thua, data in I as well as well as in 11 are sufficlent to answer the question.
= Correct answer is (¢l

8. Let the sum be Rs. x
I gives, 5.1 = Rs, 7000 and T = 7 years.
1I gives, Sam + 5.0, for £ years = 2 x Sum = BSum = 5.1 for & years
Mow, 5.1, for T years = Ra, T

SI for 1 year = Re, 7220 = Rs. 1000,
8.1 for & years = Hs. (1000 x 5} = Rs. GO,
Thus, | and II both are nesded (o gel the answer
Correct answer 18 (&)
T. Clearly, any of the three will give us the answer
Correct answoer 18 (el
B. Letsum be Rs. x Then, 51. = Rs. (3x-x)=Rs. 2x T = 7

T gives : When T = 4, then s.:-:m.%.

= 12-% pa.

R
2

= =x—n—
B % T ::-;E:{ 14

_muxs_x__( x . ] 1]
X
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Thus, I oaly givea the anawer

II gives, R = %*ﬁ: P-4
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Thua, IT only alse gives the answer
11 gives, R = &% p.a.
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Thus, 11l only alse gives the answer
:,  Correct answer is (al.
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